e 2) Find the equation of the line that is perpendiculartoy = gx -
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1) Find the equation of the line with a slope of 5/4, through the point (—8, —9).
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%:w\\(A— v
s
%»:\’XwL

g
o s L (o ks
q _‘(&\+

-10+b

Visual:

1 71 11 1 17

Sox o+ |
Li

45

0 N . O A S
0.8 6 4, '2.4.6.8.10

Solution:

5 through the point (1, 4).
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3) Find the equation of the line that passes through the points A(2,—3) and B(—1, —4)
Solution: ’ Visual:
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Coordinates on a Cartesian Plane are a convenient
way to specify a location. Machinists use
coordinates to control machines that shape and
machine parts. People that work in construction
and design use coordinates in a computer

program to simplify their design work and
calculations.

Today we want to develop a formula that will find
the midpoint of a line segment.
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Example: Using slope to find a midpoint

Determine the rise and run of the line segment joining A(—2, —3) and B(8,5). Use these to determine

the midpoint of this line segment.
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Example: Using a formula to find a midpoint

Formula:
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You try it: Use the midpoint formula to find the midpoint of the following Ime segments

1Y
a) A)EI -\-/é) and;%l}\lé)l C(12 33) and D(48 15)
_ [ 12449 zzf(-\s)
’X_\,fll— \3}«»\013 M = ( 5
g ) i
- L4+ =343 . (_(f_‘l 14
” pa ) ¢ 22 ) L

"

,)/) :(30)6\)
= (£,°)

Example 3: Medians of Triangles
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A median of a triangle is... (N
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Draw the three medians for triangle ABC shown below:

From vertex A: From vertex B: From vertex C:
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Example: Find the equation of all 3 medians in the triangle formed by the points A(4, 4),
B(10,6),and €(6,0).

Median from A:

e You try the following two...
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